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1. Choose the correct answer of the following :

1x5=5

(a) The term ‘scheduled tribe’ first appeared
in the Constitution of India under

24P/444

Article

(i) 365 (25)

(i) 366 (25)

(iii) 363 (23)

(iv) None of the above

( Turn Over )




(2) f (3)

(b) Cast - <R :
bys € System in India is characterised . 2. Write short notes on any three of the
! ' following : 4x3=12
(i) Stratification

o : | @) Denotified tribes in India
(w) hereditary transmission of lifestyle & ¥

(iij) status in a hierarchy
(iv) All of the above

(b) Role of women in tribal societies

(c) Fi (c) Rehabilitation
¢) Find oyt the pastoral tribe. |

() Guijjars | (d) Globalization
(ll) Kelas E
(iii) Kotas : 3. Prepare a note on the problematic nature of /
(iv) Lohars Indian tribes.
@) Wh A
O auth 4 ; i
Anthrop ored the book,  Applied Define a tribe. Discuss the anthropological

ology ang Deve importance of studying tribes. 2+7=9

(1980)? lopment in India

O Behera and Pfeffer

i) i 4. What d ou mean by tribe-caste
(ii) Vidyarth Do s a o Yy

continuum? Write the significance of

i) Vi
:_) Vidyarth; and Raj | tribe-caste continuum in Indian social
W) Georg Pfeffer _ | system. 3+6=9
(€) The first Nati . Or
? on 3
ad.opted i Indiaalin Forest Policy was Prepare a note on the economic classification
() 1981 | of Indian tribes. 9
(i) 1980
(fll} 1978 - 5. What do you mean by non-scheduled
(iv) 1959 categories of tribe? Attempt a discussion on
any two tribal movements in India. 1+8=9
24P/444
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Or

Identify and discuss the problems associated
with tribal development in Indian context. 9

Define migration, Discuss how migration

affects the traditiona] occupations of the
tribal people in Indja, 2+7=9

Or

What is displacement? Discuss displacemenf

as.a factor of socia]. change in tribal
societies. 2+7=9
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